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ÍÛæ̃ Û¶ÛÛ :   ¼ÛµÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ •Ûä¨Û ÍÛÁõ”ÛÛ ™öé.  

Instruction : All questions carry equal marks. 
 

1. ÍÛÛ¾ÛÛÜ›÷ïõ ÍÛ¾ÛÍýÛÛ¶Ûà ÈýÛÛ”ýÛÛ …Û¸Ûà, ©Ûé¶ÛÛ× ÅÛ“Û¨ÛÛé ÍÛ¾Û›ÛÈÛÛé.  14 

 Give the definition of Social Problem and explain its characteristics.  

   …¬ÛÈÛÛ/OR 

 ÍÛÛ¾ÛÛÜ›÷ïõ ÍÛ¾ÛÍýÛÛ¶ÛÛ× ¸ÛóïõÛÁõÛé ÍÛ¾Û›ÛÈÛÛé.  

 Explain the types of Social Problems.  

 

2. ÍÛÛ¾ÛÛÜ›÷ïõ µÛÛéÁõ¨Û ½Û×•Û¶ÛÛé …¬ÛÙ ©Ûé¾Û›÷ ©Ûé¶ÛÛ× ïõÛÁõ¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 14 

 Explain the meaning of Social Deviation and discuss its causes. 

   …¬ÛÈÛÛ/OR 

 …é¶ÛÛé¾Ûà¶ÛÛé …¬ÛÙ …Û¸Ûà, ïõÛÁõ¨ÛÛé ˜Û˜ÛÛë.  

 Give the meaning of Anomie and discuss its causes. 

 

3. …éˆ¦ÕøÍÛ¶ÛÛé …¬ÛÙ …Û¸Ûà, ©Ûé¶Ûä× ÍÈÛÄõ¸Û ›÷¨ÛÛÈÛÛé. 14 

 Give meaning of AIDS and explain the nature. 

   …¬ÛÈÛÛ/OR 

 …éˆ¦ÕøÍÛ H.I.V.¶ÛÛ×  ïõÛÁõ¨ÛÛé ©Û¬ÛÛ ©Ûé¶Ûà …¤øïõÛýÛ©Û ÜÈÛÉÛé ÍÛ¾Û›ÛÈÛÛé. 

 Discuss the causes and remedial measures of H.I.V. (AIDS). 
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4. ýÛäÈÛÛ ›÷•Û©Û¶Ûä× ÍÈÛÄõ¸Û ˜Û˜ÛÛë.  14 

 Discuss Nature of Youth. 

   …¬ÛÈÛÛ/OR 

 ¼ÛéïõÛÁõà¶Ûà …ÍÛÁõÛé …¶Ûé ©Ûé¶ÛÛ Ü¶ÛÈÛÛÁõ¨Û¶ÛÛ Š¸ÛÛýÛÛé ˜Û˜ÛÛë.  

 Explain the unemployment effects and remedial measures.  

 

5. (A) ÍÛÛ˜ÛÛé ÜÈÛïõÅ¸Û ¸ÛÍÛ×þù ïõÁõÛé : 9 

  Select right option :  

  (1) þùÐéü›÷ ________ Áõ˜Û¶ÛÛ ÍÛÛ¬Ûé ›Ûé¦øÛýÛéÅÛà ÍÛ¾ÛÍýÛÛ ™öé. (ïõÛíé¤ä×øÜ¼Ûïõ, ÁõÛ›÷ïõàýÛ, ÍÛÛ×ÍïèõÜ©Ûïõ) 

   Dowry is a problem related to ________ construction. (Family, Politics, 
Culture) 

  (2) ÍÛÁõÐüþùà ¡ö–Û¦øÛ…Ûé ________ ÍÛ¾ÛÍýÛÛ ™öé. (…ÛÜ¬ÛÙïõ, ÁõÛ›÷ïõàýÛ, ÍÛÛ¾ÛÛÜ›÷ïõ) 

   Frontier wars are _______ problems.  (economic, political, social) 

  (3) ________ ÍÛ¾ÛÛ›÷¾ÛÛ× µÛÛéÁõ¨Û …¶ÛäÄõ¸Û ÈÛ©ÛÙ¶ÛÛé ÍÛ›÷ë ™öé.  

   (ÍÛ¾ÛÛœ÷ïõÁõ¨Û, ÍÛÛ×ÍïèõÜ©ÛïõÁõ¨Û, …Ûíé²ÛéÜ•ÛïõõÁõ¨Û) 

   _______ creates behaviour following the standards in the society. 

   (socialization, culturalization, industrialization)  

  (4) …Í¸ÛèÉýÛ©ÛÛ ________ ÍÛ¾ÛäþùÛýÛ¶Ûé Í¸ÛÉÛÙ©Ûà ÍÛ¾ÛÍýÛÛ ™öé. (¸ÛóÛþéùÜÉÛïõ, ÁõÛÌ¤ÖøàýÛ, …Û×©ÛÁõÁõÛÌ¤ÖøàýÛ) 

   Untouchability is a problem of the _______ community. 

   (Regional, National, International) 

  (5) Š¸Û½ÛÛéïõ©ÛÛÈÛÛþù …¶Ûé ¾ÛæÅýÛÛé¶Ûà ïõ¤øÛéïõ¤øà ________ ÍÛ¾ÛÍýÛÛ ™öé. 

   (ÜÈÛïõÜÍÛ©Û, …ÜÈÛïõÜÍÛ©Û, ÜÈÛïõÛÍÛ ÍÛ×¼Û×ÜµÛ©Û) 

   The crisis of consumerism and values is a _______ problem. 

   (developed, undeveloped, development related) 

  (6) …éˆ¦ÕøÍÛ¶ÛÛ ÜÈÛÌÛÛ¨Ûä ________ ¶ÛÛ¾Û¬Ûà …ÛéÇ”ÛÛýÛ ™öé.  

   (…é˜Û.…Ûˆ.ÈÛà., µÛÛéÁõ¨Û½Û×•Û, µÛÛéÁõ¨Û ÍÈÛàïèõ©Û) 

   The virus of AIDS are known as _______. 

   (H.I.V., social deviation, norms accepted) 

  (7) …éˆ¦ÕøÍÛ ________ ÁõÛé•Û ™öé. (¾ÛÛ¶ÛÜÍÛïõ, ÍÛÛ×ÍïèÜ©Ûïõ, ›ÛÜ©ÛýÛ) 

   AIDS is a _______ disease. (mental, cultural, sexual) 



  (8) ½ÛÛÁõ©Û¶Ûà ÈÛÍ©Ûà¾ÛÛ× ýÛäÈÛÛ ›÷•Û©Û¶Ûä× ïõþù ________ ¤øïõÛ ›÷é¤øÅÛä× ™öé. (32, 42, 52) 

   The percentage of the youth in the population of India is _______. 

   (32, 42, 52) 

  (9) ¼ÛéïõÛÁõà Ü¶ÛÈÛÛÁõ¨Û¶Ûà ¸ÛóµÛÛ¶Û ¾Û×ªÛà¶Ûà ÁõÛé›÷•ÛÛÁõ ýÛÛé›÷¶ÛÛ ________ ÈÛÌÛÙ¬Ûà …¾ÛÅÛ¾ÛÛ× ™öé. 
(1983, 1993, 2003) 

   The Prime Minister’s employment Scheme is introduce in the year _______. 

   (1983, 1993, 2003) 

 (B) ›Ûé¦øïõÛ× ›Ûé¦øÛé : 5 

  Match the table ‘A’ with ‘B’ : 

       (…)/(A)        (¼Û)/(B) 

   (1) ½Û•¶Û ïäõ¤ä×ø¼Û (a) ÉÛíé“ÛÜ¨Ûïõ Áõ˜Û¶ÛÛ 

    Nuclear Family  Education Structure 

   (2) …Û©¾ÛÐü©ýÛÛ (b) ÁõÛé¼Û¤Ùø ¾Û¤Ùø¶Û 

    Suicide  Robert Marton 

   (3) ÜÈÛ²Û¬Ûâ …ÉÛÛ×Ü©Û (c) ÜÈÛ–Û¤ø¶Û ÍÛ×¼Û×ÜµÛ©Û ÍÛ¾ÛÍýÛÛ 

    Student’s unrest  Disorganisation related problem 

   (4) …é¶ÛÛéÜ¾Ûïõ ºéõïõ¤øÁõ (d) ïõÛíé¤ä×øÜ¼Ûïõ Áõ˜Û¶ÛÛ 

    Anomic factor  Family structure  

   (5) ýÛÛíéî©ÛàïõÁõ¨Û (e) ÍÛÛ¾ÛÛÜ›÷ïõ µÛÛéÁõ¨Û½Û×•Û 

    Attachment  Social Deviation 
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